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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

June, 2013 

MECE-001 : ECONOMETRIC METHODS 

Time : 3 hours 	 Maximum Marks : 100 

Note : 	Attempt the questions from each section as per 
instruction given under each section. 

SECTION—A 

Answer any two questions from this section. 	20x2=40 

1. What is point estimation ? How is it different from 

interval estimation ? There may be situation when 

one is faced with more than one potential 

estimator for a parameter. What are the different 

criteria one needs to follow in order to choose the 

best estimator. Explain with an example. 

2. What is meant by BLUE ? Prove that OLS 

A 

estimator 13 is the BLUE of 13. Define the concept 

of confidence interval. 

3. What is meant by heteroscedasticity ? What are 

the consequences of heteroscedasticity ? Explain 

the different remedial measures for solving the 

problem of heteroscedesticity. 
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4. 	Consider the following model of income 
determination. 

Ct = 1310 ± Plgt + tilt 

It = 1320 + P21Yt + P22Yt -1 + U2t 

Yt = Ct + It ± Gt 

Where Y, C, G I denote their usual meaning and 

Gt  and Yt _ i  are assumed to be pre determined, 

(a) Obtain the reduced form equations and 
determine whether the preceeding 
equations are identified and what is the 
status of their identification. 

(b) Which of the methods will you use to 
estimate parameters of the over identified 
and exactly identified equations ? 

MECE-001 	 2 



SECTION - B 

Answer any five questions from this section. 	5x12=60 

	

5. 	Explain the concept of multicollinearity. What 

remedial measures would you suggest for 

addressing the problem of multicollinearity ? 

	

6. 	Write short notes on : 

(a) Instrumental variables 

(b) Auto correlation 

	

7. 	Explain briefly why measurement error in the 

explanatory variable leads to biased and 

inconsistent estimates. While measurement error 

in the depended variable does not. 

	

8. 	State the reasons for constructing models with 

lagged variables. Define a distributed lag model. 

	

9. 	Explain the concept of identification. Why is 

identification necessary prior to estimation ? 

10. What is factor analysis ? How is it different from 

principal component analysis ? Discuss the 

concept of factor loading. 

11. What are the assumptions of classical regression 

model ? Find the estimate of variance of the OLS 

estimator. 
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12. When do you use a dummy variable ? What is 
meant by dummy variable trap ? Explain the 
procedure of using dummy variable with a suitable 
example. 
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